RETAN 1 XA WBW3 03

1. ROFERZMT. (SH1530%, Afk2540%, BS54, CH7530%)

(1)  132—5(xz+9) =87 (2) 7—0.3;5:2—%

(3 05@-2)=2@c+1) @ =1 io1sp=1-2+1

o

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. ROFGBEAZEMI. (SH1340%, A3, Bk5330%, CHs8T)

(1) 123 —5(7T+x) =89 (2) 7—0.473:1—%

() Z(x-2)=06(2z+4) (0 EoLiorer—1- 2L

© Bt - 2R L7012 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

1.

RETFAN 1XABKX WBW3 03 BRERH

ROJEAZMT. (SHh1330F, Aik25r40%, B#S5 7, C#k753301)
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2. ROFGBEAZEMI. (SH1340%, A3, Bk5330%, CHs8T)
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